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NOTE

THE lessons in this book are on numbers from 1 to 20,
and are designed to cover the first year’s work in arith-
metic, although some classes will undoubtedly complete
the exercises in less than one year, and others may require
more time. :

The fundamental operations — addition, subtraction,
multiplication, and division —and simple fractions are
introduced in connection with each number. There are
frequent reviews, many drills, and a combination of slate
and oral work. The problems are simple and practical.

Pictures, suggestions for object lessons, and other
devices calculated to interest the pupil, are presented;
and the illustrations, type, and arrangement of matter
have been selected with a view to render the book attrac-
tive to young children.






LESSON 1 5

ORAL WORK

How many girls do you see in the picture?

How many girls are on the bench? How
many are standing?

How many hens do you see in the picture?

How many eggs do you see in the nest?

If each of the two girls on the bench takes
an egg out of the nest, how many eggs
will be left in the nest?

If you take two eggs from three eggs, how
many eggs will be left?

Now, if each hen lays an egg in the nest,
how many eggs will there be in the nest
then?

One egg and two eggs are how many eggs?



6 - LESSON 2

1 2 3
one two three
[ ] [ N J [ N N J
first ' seoond third

ORAL WORK

How many dots do you see on the first card ?

How many dots are on the second card ?

How many dots are on the third card ?

Count the dots on the first and second cards,
and tell me how many are on both
together.

One dot and two dots are how many dots ?

How many more dots are there on the second
card than on the first card ?

How many more dots are there on the third
card than on the first?

Two books and one book are how many books ?
If Mary has three books and gives one to her
sister, how many books has Mary left?
How many eggs can you buy for three cents,

if one egg costs one cent ?

There are three plums on a plate. Now, if
two girls take one plum each, how many
plums will be left on the plate?




LESSON 8 7

ORAL WORK

How many boys do you see in the picture?

How many oranges are on the plate on the
table ?

How many legs has the table?

How many legs has the chair?

If one boy eats an orange, how many oranges
will be left on the plate ?

If you take one orange from four oranges,
how many oranges will be left?

If two boys leave the table, how many boys
will be left at the table ?

How many eyes have two horses?

From four apples take away two apples, and
how many apples will be left ?

How many balls are two balls and two balls?



8 LESSON 4

1 2 3 4
one two three four
[ N J
[ ] [ N J [ I BN J oo
first second third fourth

ORAL WORK

How many dots do you see on the first card ?

I see dot on the first card.

How many dots do you see on the second card ?

I see dots on the second card.

How many dots do you see on the third card ?

I see dots on the third card.

How many dots do you see on the fourth
card ?

I see dots on the fourth card.

How many dots are three dots and one dot?

Three dots and one dot are dots.

Draw a card and make four dots on it.

Now, rub out two dots and tell me how many
dots are left on the card.

If you have two cents and spend two of them
for candy, how many cents have you left ?

Willie’s mother gave him three cookies.
After he ate one how many cookies had
he left?




LESSON 5 9

2 3 3
[ ] [ ]
° ° o ° ° .
1+1= 24+1= 1+2=
2—-1= 3—-1= 24+1=
}O’f2= 8+2= 3—-2=
2
*Of2= °

ORAL WORK

1 dot and 1 dot are how many dots?

2 dots less 1 dot are how many dots?

2 dots and 1 dot are how many dots?

3 dots less 1 dot are how many dots?

3 dots less 2 dots are how many dots ?

There are 2 mice in one trap and 1 mouse in
another trap. How many mice are there
in both traps?

Anna has 2 dimples in her cheeks, and 1
dimple in her chin. How many dimples
has Anna?

I see 2 birds in a tree and 1 bird on the
fence. How many birds do I see?

Mary had 3 cents and paid 2 cents for a
pencil. How many cents had she left?



10 LESSON 6

4 4

. o ° °
° ° °
34+1= 242=
143= 2x2=
4—1= 4-2=
4—-3= 4+2=
4+3= 3of 4=

4

jofd=[e e

ORAL WORK

3 dots and 1 dot are how many dots?
2 dots and 2 dots are how many dots?
2 times 2 dots are how many dots?

4 dots less 2 dots are how many dots?

1 of 4 dots is dots.
2 dots and are 4 dots.
4 dots less are 2 dots.

4 dots are how many more dots than 3 dots?

SLATE WORK

S—1= 242= 4+2=
3+2= 4—-2= 4+3=



LESSON 17 11

ORAL WORK

How many boys do you see in the picture?

How many girls do you see?

Three boys and two girls are how many
children ? '

How many ‘books is the largest boy carrying ?

How many books has the next boy?

How many books has the smallest boy ?

Three books and two books are how many
books ?

How many books have the two girls together ?

Four books and one book are how many
books ?

How many more books has the larger girl
than the smaller? '

Four books less one book are how many
books ?



12 LESSON 8

6 6
HERSE
4+1= 3+2=
1+4= 24 3=
5+4= 54+8=

ORAL WORK

4 dots and 1 dot are how many dots?
5 dots less 4 dots are how many dots?
.3 dots and 2 dots are how many dots?

5 dots less 3 dots are how many dots?

5 dots are more dots than 2 dots?

How many 4’s are there in 5, and how many
are left over? 5+=4=1, and 1 left over.

How many 3’s are there in 5, and how many
are left over? 5+3=1, and 2 left over.

If you have a three-cent piece and a two-cent
piece, how much money have you?

If T have a five-cent piece and you have a
two-cent piece, how much more money
have I than you?

5 cents less 2 cents are

cents.




LESSON 9 18

SLATE WORK

142= 34+2= 247=4 4—-2=
3+1= 4—-1= 5—-7=2 5—4=
24-3= 5~2= 4+-7=2 2x2=
441= 4-8=  347=5  jofd=
5—1= 5-3=  4-7=3  jof2=

ORAL WORK

Hold up your right hand ; your left hand.

How many fingers have you on each hand ?

How many fingers have you on each hand,
not counting the thumbs?

How many joints has the thumb?

How many joints has each of the other
fingers ?

How many joints have your thumb and little
finger together ?

If T buy 2 twocent stamps with a five-cent
piece, how much money will I have left ?

How many 2’s are there in 5, and how many
are left over?

*l0 | 5x2= , and —— left over.




14 LESSON 10

ORAL WORK

How many legs has a grasshopper ?

How many legs has a fly?

How many legs has a bee?

A fly has two wings. A bee has four wings.

How many wings have 2 flies ?

Two things make a pair. Two shoes are a
pair. Two gloves are a pair. Two stock-
ings are a pair.

How many pairs of legs has a grasshopper?

How many pairs of legs has a bee?

How many pairs of legs has a fly?

How many pairs of wings has a bee?

How many pairs of wings has a fly?

If a work bee loses two of its wings, how
many will it have left?




LESSON 11 15

6 6 6
° () ° ° °
o.: * o0 ° % %
54+1= 442= 84+8=
14+56= 24+4= 2x3=
6—1= 6—2= 6—3=
6—5= 6—4= 6+3=
6+5= 6+4= %0f6=
6
3of6=[0e e
e e

ORAL WORK

6 dots less 2 dots are how many dots?

3 dots and 3 dots are how many dots?

2 times 3 dots are how many dots?

% of 6 dots is how many dots?

6 dots are how many more dots than 4 dots?
6 dots less 4 dots are how many dots ?

How many 5’s are there in 6, and how many

are left over? 6+5= , and over.
How many 4’s are there in 6, and how many
are left over? 6+4= , and over.

How many 3’s are there in 6?
If you divide 6 apples equally between two
girls, how many apples will each girl get?



16 LESSON 12

SLATE WORK

44-2= 5—-3= 4+2= 5—-7=2
34+2= 6—-3= 6+-2= 342=6
242= 4-2= 6+-3= 247=6
2x2= 343= 6—7=3 5—-7=1
441= 2x3= 44-7=6 6—7=4

ORAL WORK

2 roses and 3 roses are roses.
3 tops and 3 tops are tops.
4 dolls and dolls are 6 dolls.
5 birds less 2 birds are birds. -
6 hats less hats are 2 hats.
5 boys less boys are 2 boys.
3 times flags are 6 flags.
How many two-cent stamps can you buy for
6 cents?
How many shoes are there in three pairs of
shoes ? ;
Mary had 6 lilies and gave 4 of them to me. |'
How many did she give me? |
Lulu has 6 stockings. How many pairs of "
|
|

stockings has she?



LESSON 13 17

ORAL WORK

How many white sheep do you see in the

' picture ?

How many black sheep do you see?

Four sheep and three sheep are how many
sheep ?

How many more white sheep are there than
black sheep?

Four sheep less three sheep are how many
sheep ?

How many sheep are standing?

How many are lying down ?

Five sheep and two sheep are how many?

Seven sheep less two sheep are how many?

How many more sheep are standing than
there are lying down ?

Five sheep less two sheep are how many sheep ?

GRAD. ARITH. I, —2



18 LESSON 14

7 7 7
[ X X ] [ X J [ ] [ BN ] [ J
[ X X ] * ... [ ] [ BN ] ..
6+1= 54+2= 4438=
1+6= 245656= 8+4=
T—-1= T—2= T—8=
T—6= T—56= T—4=
T+6= T+5= T+d=

ORAL WORK

5 dots and 2 dots are how many dots ?

7 dots less 2 dots are how many dots ?

4 dots and 3 dots are how many dots?

7 dots less 4 dots are how many dots?

3 apples and 4 apples are how many apples ?

How many 6’s are there in 7, and how many
are left over? 7-+6= , and left
over.

How many 5’s are there in 7, and how many
are left over? 7+5= , and left
over.

How many 3’s are there in 7, and how many
are left over?




LESSON 15 19

SLATE WORK

342= 7T—38= 245= T—2=

5+1= 5—2= 3+4= 3+7=5
5—-3= 44-3= 5—4= 542=17
6—3= . 6—4= 2+3= 7—7=4
542= 4-}-2; 7—5= 6—7=3

Copy and finish :

5 dots less 3 dots are
7 dots less

dots.

> dots are 4 dots.

4 horses and horses are 7 horses.

5 fingers and fingers are 7 fingers.

2 geese and 4 geese are geese.

2 baskets and —— baskets are 5 baskets.
6 clocks less 2 clocks are clocks.

6 cups less 4 cups are cups.

7 blocks less blocks are 2 blocks.

Copy, and fill in dots enough to make seven
in each card :




20 LESSON 16

ORAL WORK

How many spiders do you see in the pic-
ture ?

How many bees do you see?

How many legs has each spider?

How many pairs of legs has each spider?

How many pairs of legs have both spiders
together ?

How many pairs of wings has each bee ?

How many pairs of wings have both bees
together? |

How many pairs of legs have both bees ?

How many more pairs of legs has a spider
than a bee?

How many less legs has a fly than a spider?



LESSON 17 21

8 8 8 8
::. o ece| o o0 o oo oo
pae eee| o oo ° oo oo
T+1= 6+2= 548= 4+4+4=
147= 24+6= 346= 2x4=
8§—-1= 8§-2= 8§-8= 8§—4=
8-T= 8—6= 8—-6= 8+4=
8+T= 8+6= 8+5= 3of 8=

8
3of8=[eeee
eooe

ORAL WORK

6 dots and 2 dots are how many dots?

8 dots less 2 dots are how many dots?

5 dots and 3 dots are how many dots ?

8 dots less 3 dots are how many dots?

4 dots and 4 dots are how many dots?

2 times 4 dots are how many dots ?

4 of 8 dots are how many dots?

How many 7’s are there in 8, and how many

are left over? 8 +-7= , and over.
How many 6’s are there in 8, and how many

are left over? 8 +6= , and over.
8+5= , and over.




22 LESSON 18

2 4 6 8
‘ ° ° [ ] [ ] .. .. [ BN ] [ N )
[ ] [ ] [ ] [ ] [ BN ] [ N ]
1+1= 24+2= 3+3= 4+4=
2x1= 2x2= 2x 8= 2x4=
2+2= 44+2= 6+2= 8+2=
of 2= dofd= $of 6= dof 8=
2 4
4 of 2= ° dofd=[ e
[ J [ X ]
6 8
dof6=[ e 00 dof8=[e 000
[ N BN ] o000

SLATE WORK
1+1= 2x1= 2+-2= }of 2=
242= 2x2= 4+-2= ‘}Of 4=
34+3= 2x3= 6+2= %Of 6=
44+4= 2x4= 8+2= 3 of 8=

44-3= 44+4= 442= 44-7=17
543= 8—-5= 3+4+3= 6—-?7=2
8§—4= 1—2= 2465= 547=8
71—-3= 6—-2= T—4= 7—7=3
64+2= 3+2= 6—3= 34+7=8




LESSON 19 23

SLATE WORK

Copy and finish:

3 pairs of legs are
8 slates less

legs.
slates are 5 slates.

7 boxes less 3 boxes are boxes.
2 times 2 spoons are spoons.
2 times 3 kittens are kittens.

7 days less days are 3 days.

8 books are books more than 5 books.

2 times 4 rabbits are rabbits.

A man had 6 pigs and sold 3 of them. He

had pigs left.
If a man had 4 lambs and sold 4 of them, he
had lambs left.

If Mary had 5 cents and her mother gave her
3 cents more, Mary then had cents.

3 oranges at 2 cents each will cost cents.

A spider has more legs than a boy.

At 2 cents each, for 6 cents I can get
pencils.

3 times 2 pencils are pencils.

If John had 8 chickens and sold 4 of them,
he had —— chickens left.




24 LESSON 20

ORAL WORK

How many cherries do you see in the picture ?

How many are there in the larger bunch?

How many are there in the smaller bunch?

Six cherries and three cherries are how many
cherries ?

Nine cherries less three cherries are how
many cherries ?

How many leaves are there on the larger
bunch of cherries ?

How many are there on the smaller bunch ?

Five leaves and four leaves are how many
leaves ?

Nine leaves less four leaves are how many
leaves ?




LESSON 21 25
9 9 9 9
e0e .o ° XX XA
:ooo ® ::. ° eoe| % % (oo
84+1= T+2= 6+38= 5+44=
14+8= 24 T= 8+46= 445=
9—-1= 9-2= 9—-8= 9—4=
9—-8= 9-T= 9—-6= 9-5=
9+8= 9+ T= 9+6= 9+ 5=

ORAL WORK

7 dots and 2 dots are how many dots?

9 dots less 2 dots are how many dots?

3 dots and 6 dots are how many dots?

9 dots less 3 dots are how many dots?

4 dots and 5 dots are how many dots ?

6 beans and 3 beans are how many beans?
9 plums less 6 plums are how many plums?
How many 8’s are there in 9, and how many

are left over? 9+-8= —— and
left over.
How many 7’s are there in 9, and how many
are left over? 9+7= —— and
left over.
9+-6= , and —— left over.
9+-5= , and —— left over.



26 LESSON 22

SLATE WORK

3+56= 5+4= 2465= 342=
443= 8—-6= 14+7= 8=-4=
643= 3+4+6= 24 7= 6+-2=
T—4= 8—3= 8—4= 8=56=
6—-3= T—6= 148= T+4=
Copy and add:
3 2 4 5 2 6 3 4 6
i3 2 1 5 1 3 3 3
4 5
Copy and find the difference:
4 5 7 4 6 7 7 8 9
3 2 3 2 4 3 5 5 3
1 3
3 6 9
1+141= 24+2+4+2= 8+8+3=
3x1= 3x2= 3x3=
83+8= 6+3= 9+3=
3
*0f3= [ ]

In the same way show:
3 of 6 $of9




LESSON 23 27

SLATE WORK
Copy and finish:

If Nettie paid 3 cents for 3 cakes, for 1 cake
she would have to pay cent.

At 1 cent each, 4 cakes will cost
more than 2 cakes.

If a lady divides 6 cherries equally among 3
boys, each boy will get cherries.

If 9 blocks are divided into 3 equal piles, in
each pile there will be blocks.

If Ella had 9 cherries and gave 5 of them to
Charlie, she had left cherries.

Write 9 dots on your slate in this way:

cents

Now tell me how many 2’s there are in 9, and
how many there are left over.
2 and 2 and 2 and 2 and 1 are

There are twos in 9, and left over.

How many 4’s are there in 9, and how many
are left over? 9-+-4= , and left
over.

If Grace had 6 roses and gave 4 of them to
Tom, she had left roses.




28 LESSON 24

ORAL WORK

What is the little girl in the picture doing?

How many hens do you see in the picture ?

How many chicks has the first hen?

How many has the second hen ?

Five chickens and three chickens are how
many chickens?

Now count the chickens and the hens, and
tell me how many fowl there are in all.

Eight chickens and the two hens are how
many chickens?

Ten chickens less two chickens are how many
chickens?

If two of the ten chickens should die, how
many chickens would be left?




" LESSON 25 29

10 10 10
e o o ceooe| o ") °
ceos | . eoee | o ce | %
94+1= 8+2= T4+8=
149= 248= 3+T=
10-1= 10-2= 10—-8=
10—-9= 10—-8= 10—-T=
10+9= 10+8= 10+T7T=
10 10
EEREX ¢ oo o
EEEREX ... ...
6+4= 545=
44+6= 2x 6=
10-4= 10—-56=
10
j4ofl0=0e00ee
R

ORAL WORK

9 dots and 1 dot are how many dots?

8 dots and 2 dots are how many dots?

10 dots less 4 dots are how many? 10less 5?

2 times 5 dots are how many dots?

% of 10 dots are how many dots?

How many 9’s are there in 10, and how many
are left over? how many 8’s?



30 LESSON 26 -

SLATE WORK

14+8= 8—-5= 9-3= 44-3=
9—4= 6+4= 10—4= 54+2=
34+6= 3+5= 1—2= 24-7=
4+3= 9—6= 248= 64+3=
242= 3+4+3= 444= 5+4+6=
2%x2= 2x3= 2x4= 2x5=
4—_2= 6—-3= 8—4= 10—-5=
4+2= 6+-2= 8+2= 10+-2=
Jof4= L of6= Jof8= $of10=
" How many 2’s are there

° ° ° . in 7?
bl I M There are 3 twos in 7,

2+2+2+1 and 1 left over.

In the same way show:

How many 4’s there are in 7.
How many 3’s there are in 7.
How many 3’s there are in 8.
How many 2’s there are in 8.
How many 2’s there are in 9.
How many 3’s there are in 9.
How many 3’s there are in 10.




LESSON 27 81
4 8 10
1+141+1= 2424242= 242424242=
4x1= 4x2= 5x2=
4+4= 8+4= 10+-5=
4 8 10
jofd= } ofls—= 3 of 10=
SLATE WORK
141= 148= T4+3= Jof 4=
24-4= 9+1= 842= 1of 8=
342= T—5= 446= 3 of 10=
—3= 246= 9—4= 3 of 10=
8—-6= 54+4= 8—-T= 1of 8=
2x1= 3x1l= 8+2= 10+-2=
2% 2= 3X2= 8+4= 10+-5=
2% 3= 3x3= 6+-2= 8+7=4
2x4= S5x2= 6=-3= 6=-7=3
2X 5= 4+2= 9+3= 10+-7=2
Copy and add :
2 1 3 5 4 5 7
1 4 1 1 4 4 2
3 2 4 2 2 1 1



82 LESSON 28

ORAL WORK

Add at sight:

2 4 2 4 8 2 4 5 6
8 1 ¢ 8 1 5 5 38 3
2 7 3 65 9 4 2 5 8
T 8 8 2 1 8 8 5 2
Subtract at sight:
4 5 6 7 T 6 6 9 9
2 2 1 2 4 5 3 8 1
8 7 10 8 10 8 10 5 10
¢ 5§ 9 5 7 2 8 1 5
Read at sight:
4 and 3 are — 2 and 5 are —
3 and 4 are — 10 less 7 are —
7 and 2 are — 9 less 6 are —
7 less 5 are — 1of 8is —
2 and 8 are — 3of 9is —
9 less 4 are — 3 of 10 is —

8 less 3 are --— 3 of 10 is —




LESSON 29 33

SLATE WORK

In 7 there are three 2’s, and 1 left over.

In 9 there are 4’s, and left over.
In 10 there are 3’s, and left over.
In 10 there are 2’s, and left over.
4 apples and 5 apples are apples.

8 peaches are
peaches.

If Frank caught 4 fish and Robert caught 6,
they both caught fish.

If there are 4 windows in one schoolroom
and 5 in another, there are in both rooms

windows.

If there are 3 chairs in one room and 7 in
another, there are chairs in both

more peaches than 3

rooms.

3 times 2 are less than 9.
4 times 2 are —— more than 5.
$ of 9 is less than 8.

If a boy has 9 nuts in one hand and 5 nuts
in the other, he has more nuts in
one than in the other.

$ of 10 is more than 2.

GRAD. ARITH. I. — 3




34 LESSON 30
ORAL WORK

Tell your teacher stories about :

3 hats and 2 hats. 3 roses and 6 roses.
7 plums and 3 plums. 4lemons and 5lemons.
9 hens less 2 hens. 8 chairs less 3 chairs.

8 spoons less 5 spoons. 6kittensless 2 kittens.

2 baskets and 7 bas- 7 boys and 2 boys.
kets. 7 plates less 4 plates.

10 cents less 5 cents. 9 forks and 1 fork.

3 pears and 6 pears. 8 dolls and 2 dolls.

6 birds less 4 birds. 4 cats and 6 cats.

If you had 3 cents, how many more cents
would you need to make 9 cents?

If I divide 9 marbles equally among 3 boys,
how many marbles will each boy get?

A five-cent piece is called a nickel. If a girl
has a nickel, a two-cent piece, and a cent,
how much money has she?

If 8 marbles are put in 4 equal piles, how
many marbles will there be in each pile?

Robert had 2 nickels. He bought 2 oranges
at 3 cents each, and a 2-cent stamp. How
much money had he left?




LESSON 31 35

Gill

ORAL WORK

4 gills make 1 pint.
2 pints make 1 quart.
4 quarts make 1 gallon.

How many gills are there in 2 pints?

How many pints are there in 2 quarts?

How many quarts are there in 2 gallons ?

How many gills are there in } of a pint?

How many pints are there in } of a quart?

How many quarts are there in  of a gallon ?

How many pints are there in 8 gills?

How many quarts are there in 4 pints?

How many quarts are there in 8 pints?

How many gallons are there in 8 quarts?

How much will a pint of milk cost at a cent
for 1 gill?

How much will a quart of milk cost at 2
cents a pint?"



36 ) LESSON . 82

SLATE WORK

Copy and finish :

In 1 gallon there are —— quarts.
In 2 gallons there are quarts.
In 1 quart there are pints.
In 2 quarts there are pints.
In 3 quarts there are pints.
In 1 pint there are. gills.

In 2 pints there are gills.

In 4 pints there are quarts.
In 6 pints there are quarts.
In 8 pints there are quarts.

At 6 cents a quart, a pint of milk will cost

cents.

At 10 cents a pint, 1 of a pint of cream will
cost cents.

It will take
quarts of water.

It will take
pints of milk.

At 8 cents a quart, 1 pint of milk will cost
——cents, and } a pint will cost ——
cents.

pint measures to hold 3

quart measures to hold 6




LESSON 88 87

ORAL WORK

Into how many equal parts is this melon
divided ?

Each of these parts is called ore half (3).

How many halves are there in a melon ?

How many halves of an apple make a whole
apple?

How many halves are there in this
circle? @

Draw a line like this, , divide 1t
into two equal parts, and tell what each
part is called.

How many halves are there in this tri-
angle? Al

What part of this square is[1?

This £ is what part of this circle O?

How many halves are there in a pie?

How many pies will it take to give one half
of a pie to each of two boys?

How many halves are there in anything?




38 LESSON 384

SLATE WORK

Finish the answers to these questions:

How many halves of an orange make 1
orange ?

halves of an orange make 1 orange.

How many halves are there in 2 melons?

There are halves in 2 melons.

How many halves are there in 3 melons?

There are halves in 3 melons.

How many pies will be needed to give % of a
pie to each of 4 boys?

There will be needed pies.

One peach and 4 of a peach are how many
halves of a peach?

One peach and 4 of a peach are
of a peach.

How many pears will be needed to give to
each of 2 boys 3 halves of a pear?

There will be needed pears.

How many whole pears are there in 8 halves
of a pear?

There are whole pears.

In 10 halves of an apple there are

halves

apples.




/

LESSON 385 - 39
ORAL WORK

If 1 buy some beans for 6 cents and some
peas for 4 cents, how much do I pay for
both ?

I pay 6 cents and 4 cents, or cents.

A boy earned 9 cents and spent 7 cents for
paper. How many cents had he left?

He had left 9 cents less 7 cents, or cents.
A little boy had 9 blocks and gave 5 of them
to his sister. How many had he left?

He had left 9 blocks less 5 blocks, or
blocks.

I paid 5 cents for tacks and had 3 cents left.
How many cents had I at first?

I had 5 cents and 3 cents, or cents.

A man had 7 lambs-and bought 2 more. How
many lambs had he then ?

He had 7 lambs and 2 lambs, or lambs.

Tom has 8 roses, and his sister has 2. How
many more roses has Tom than his sister?

He has 8 roses less 2 roses, or roses
more than his sister.

10 eggs less 7 eggs are

eggs.



"LESSON 36

1 1

8+38=
3+8=
11-8=
11-8=
11+8=

T+4=
44T=
11-4=
11-7=
1

444 8=

2X4,+3=
11+4=

6+5= 11—

11+6=

3+3+8 +2= 242424242 4+1=
3x8,+2= §x2%+1=
11 +-3= 11 +2=

ORAL WORK
10 dots and 1 dot are how many dots?
9 dots and 2 dots are how many dots?
11 dots less 3 dots are how many dots?
7 pencils and 4 pencils are how many pencils?
3 fans and 8 fans are how many fans?
11 doors less 7 doors are how many doors?
How many 4’s are there in 11, and how many
are left over ? how many 3’s ? how many 2's?




LESSON 387 . 4

SLATE WORK

94+-2= 544= 11—-4= 11- 7=
843= 546= 11-3= 11— 9=
T+4= 6+4= 11-56= 11— 8=
64+5= 348= 11—-6= 11-10=
Copy and add :
4 2 3 4 1 5 7 6
4 5 2 2 8 3 3 4
3 4 6 3 2 1 1 1
54+541= 54+4—-3= 2x5,41=
34+442= 64+3—-2= 2x4,43=
14643= 3+8—4= 3x3,+2=
44-34+3= T+4—6= 5x2,41=
5434+3= 84+3-T= 4x1,47=
11+ 4=? 11+4=2, and 3 left over.
11+~ 6= ——, and left over.
11+-10= , and left over.
11+~ 8= —— and left over.
11- 5= , and left over.
11= 9= , and —— left over.




42 LESSON 38

SLATE WORK

24242= 2424242= S5x2=

3x2= 4x2= 10+-5=
‘§~Of 6= }of 8= %Of 10=
5454+1= 44443= 343434+2=
2x5,+1= 2x4,43= 3x3,+2=
11-5—-56= 11—-4—4= 11-3-3=
11-5—-1= 11—4—-3= 11-3—-2=

. Copy, and find the difference:

7T 6 5 7T 8 8 9 10 10 11
3 4 2 4 6 3 5 6 4 6
1 2 ¢ 2 > =z 2
3x2,4?=11 2x1,47=11 8+3=
2x5,4+7=11 4x1,4?2=11 9+ 3=

3x3,—7=4 3x3,4+7=11 8+4=
2x4,—7=2 6x1,+7=11 8+-2=
8x1,+7=11 2x2,4?2=10 6+-3=
3x2,47=10 5x1,47=8 3x3=
3x1,4?=11 5%x2,—-7=6 4x2=

"x1,4+?7=11 Ix1,4+7=11 S5x2=
5x2,—7=3 4x2,—-7=2 10=+-5=




LESSON 39 43

ORAL WORK

Read at sight: 9 less 6 are —
5 and 4 are — 10 less 2 are —
6 and 3 are — 11 less 5 are —
7 and 2 are — 11 less 7 are —
2 and 8 are — 11 less 3 are —
8 and 3 are — 11 less 6 are —
6 and 5 are — 11 less 2 are —
7 and 4 are — 11 less 4 are —
9 and 2 are — 11 less 8 are —

3 twos and — =11 5 ones and — =11
4 twos and — =11 2 fives and — =11
2 threes and — =11 7 ones and — =11
3 threes and — =11 3 and — fours=11
2 fours and — =11 7 and — twos =11

2 ones and 5= 7 ones and 3=
4 twos and 3= 1 seven and 4=
3 twos and 4= 2 threes and 3=
2 twos and 7= 3 threes and 2=

2 fours and 2= 1 three and 5=



44 LESSON 40
ORAL WORK

I bought 2 pints of milk from one man and
1 quart from another. How many pints
did I buy?

A farmer has 4 sheep in one field and 7 in
another. How many sheep has he?

If a cow gives 4 quarts of milk each day, in
2 days how many quarts will she give?
Jennie is 10 years old. Her little brother is

3 as old. How old is her brother?

At 3 cents each how much will 3 rulers cost ?

How many pints are there in 5 quarts?

4 pairs of legs are how many legs?

How many pairs of legs has a fly?

How many pairs of legs has a spider?

How many 3’s are there in 6? How many
4’s are there in 87

How many oranges will it take to give each
of 8 boys 1 of an orange?

If you divide 9 plums equally among 3 boys,
how many plums will each boy get?

A boy picked 10 cherries and gave his sister 4 of
them. How many cherries had each then?




LESSON 41 45

12 12 12
e o o [ ]

... ... [ ] e o o ° o000 |00
oo oo e c oo | o eeee oo
1042= 12-10= 94+8= 12-9= 8+4= 12-—-8=
12—-2= 12+10= 12-8= 12+9= 12-4= 12+8=
12 12
... [} ... o000 00O
oo o [ N} o000 |00O
T+6= 12-7= 646= 12 -6=
12-6= 124+7= 2x6= 12 +6 =
12 12 12
[ ] [ ] [ ] [ ]

[ N ] [ N J [ 2N ] ® ° ° ° [ ] [ ] [} [} [ ] [ ]
[ N ] [ N ] [ 2N ] ° ° ° ° [ ] [ ] [ [ ] [ ] [ ]

4+444= 84+384+8+43= 24+2424+242+2=
3x4= 12+4= 4x8= 12+8= 6x2= 12+2=
12 ' 12
[ N N ) o 00 o0 ([ N } [ N J
o000 o000 [ N ] [ N J [ N J
jof12= jof12=
12 12
o | e | o o0 o|lojojeo|0]|0
: : : : [ BN BN BN BN BN J
}ofl12= $ofl12=

10 dots and 2 dots are how many dots?

12 dots less 2 dots are how many dots?

7 dots and 5 dots are how many? 12 less 7?
9 lamps and 3 lamps are how many lamps?
12 knives less 5 knives are how many knives?



46 LESSON 42
SLATE WORK

104+ 2= 943= 12-10= 12— 4=
2410= 448= 12— 6= 12— 2=
64+ 6= 1141= 12— 8= 12-11=
T+ b= 547= 12— 6= 12— 1=
84 4= 3+9= 12— 7= 12— 3=

7+ —=11 64 — =12 3+ — =12
54— =11 8+-—=12 104 — =12
34+ — =11 44 — =12 114+ — =12
44— =11 9+—=12 T4+—=12
64+ — =11 54 — =12 24 — =12

" Copy and add :

6 8 7 6 9 8 7 6 10 11
5 3 4 6 3 4 5 3 2 1

Copy and finish:
12+ 8=1, and 4 left over.

12+-10= , and left over.
12+ 7= , and —— left over.
12+ 9= ——, and left over.
12+-11= ——, and —— left over.
12+ 4= —— and left over.




LESSON 43 47

SLATE WORK

44+4+4= 34+3+343=
3X4= 4x3=
12—3= 12—-4=
12+-3= 12+-4=
24242424242= 3 of 12=
6x2= }of 12=
12—6= 3 of 12=
12+-6= 3 of 12=

Copy and find the difference :
9 9 10 10 11 11 12 12 12 12
5 4 7 4 6 8 6 4 8 5
545 +2= 444 4+3= 2%x3,4+6=
2%x5,4+2= 2x4,4+3= 6x1,4+6=
12—-6 —6= 11-6 —6= 4%x1,48=
12—8 —4= 11-7 —4= 5x1,4+7=
2x5,4?=12 3x2,4?=11 4x2,—-7=3
4x2,47=12 4x1,4+?=12 3x3,—-7=4
Tx1,4?=12 3x3,+7=11 2x6,—7=7
3x3,+7=12 4x2,4?=11 4x3,—?=5
6x1,4?2=12 * 5x1,4?=9 9+?7=3
3x2,4?=12 2x2,4?=12 10+-7=5
8x1,4+7=12 Tx1,4+7=11 12+-7=3



48 LESSON 44

ORAL WORK

Read at sight:

6 and 5 are —
4 and 7 are —
5 and 4 are —
10 and 1 are —
7 and 2 are —
3 and 8 are —
6 and 4 are —
8 and 4 are —
7 and 5 are —
10 and 2 are —
3 and 9 are —
11 and 1 are —
6 and 6 are —
4 and 8 are —
9 and 3 are —

5 twos and —=12
4 twos and —=12
3 twos and —=12
3 threes and — =12
2 fours and —=12
3ones and —=12

9 less 3 are —
11 less 7 are —
10 less 4 are —
11 less 5 are —
10 less 3 are —

8 less 3 are —
10 less 8 are —
11 less 3 are —
12 less 2 are —
12 less 4 are —
12 less 3 are —
12 less 5 are —
12 less 7 are —
12 less 6 are —
12 less 8 are —

2 threes and — =12
2 fives and —=12
2 twos and —=12
4 ones and —=12
5ones and —=12
9 ones and —=12




LESSON 45 49

SLATE WORK

Copy and add :
3 5 2 3 8 7 6 1 2
4 1 6 2 1 2 3 3 4
2 4 3 4 2 3 2 8 6
Copy and finish :
11+-3=3, and 2 left over.
11+-4= , and left over.
9+2= , and left over.

‘ 11+6= , and left over.
11+-5= , and left over.
12+-5= ——, and —— left over.
12+7= , and left over.
12+-8= —, and left over.
12+9= , and left over.

4 times 2 horses, and 3 horses are horses.

3 times 2 books, and —— books are 11 books.
4 times 3 pints of milk are pints of milk. .
2 pints make 1 quart. 8 pints make

- quarts.
In 1 apple there are 2 halves. In 4 apples
there are halves.

GRAD. ARITH, 1.— 4



50 LESSON 46

ORAL WORK

We call twelve things a dozen.

A dozen oranges are how many oranges ?

A dozen buttons are how many buttons?

How many shoes are 6 pairs of shoes?

How many eggs are a dozen eggs?

How many eggs make % of a dozen?

How many eggs make } of a dozen?

How many eggs make 1 of a dozen?

There are 12 months in a year.

How many months make % of a year?

A little girl went to the store with a dozen
eggs, but broke 3 of them on the way.
How many were not broken ?

How many legs have 2 flies?

2 flies have as many legs as how many boys?

How many 3’s are there in 9?

How many 3’s are there in 127

How many more 3’s are there in 12 than
in 9?

6 lemons are what part of a dozen lemons?

George is 12 years old, and his sister is 4 as
old. How old is his sister?




LESSON 47 51

SLATE WORK

1 dozen eggs at a cent apiece will cost ——

cents.
1 of a dozen oranges at 2 cents apiece will
cost cents. .
If 1 pear costs 2 cents,  of a dozen will cost
cents.
At 3 cents apiece + of a dozen lemons will
cost cents.

It will take oranges to give 4 an orange
to each of 12 boys.

It will take dozen pint cans to hold as
much water as § a dozen quart cans.

1 dozen is more than } a dozen.

If a boy has 5 marbles, he must get more
to have a dozen.

At 3 cents apiece I can get —— melons for
9 cents.

At 4 cents apiece I can get —— melons for
12 cents.

If 2 pears cost 1 cent, 4 pears will cost ——
cents.

4 of a dozen is

less than 4 of a dozen.



52 LESSON 48

ORAL WORK

This line is 1 inch long.

This one : is 2 inches
long.

Thisone ' L.

| |
is 3 inches long,.

The second line is how many times as long
as the first line?

The length of the first line is what part of
the length of the second line?

The third line is how many times as long as
the first line?

Count the inches marked off on your ruler,
and tell me how many inches long it is.
Cut a strip of paper 12 inches long and 1
inch wide, and mark it off into inches.

A measure 12 inches long s called a fool.

Draw a line on the board, as nearly as you
can, 12 inches long. Now measure it to
see how near 12 inches long it is.

How many inches make } a foot?

Draw a line 12 inches long. Divide it into 3
equal parts. How long is each part?




LESSON 49 53

1inch 1inch linch

4 in. §in. 4 in. §in. 4in. yin.

ORAL WORK

How many half inches make 1 inch ?

How many half inches are there in 2 inches?

How many half inches are there in 3 inches?

How many inches are there in } of a foot?

How many inches are there in 1 of a foot?

How many inches are there in } of a foot?

How many half inches are there in } of a
foot ?

How many half inches are there in  of a foot?

How many half inches are there in 1 of a
foot ?

4 half inches make how many whole inches?

6 half inches make how many whole inches?

8 half inches make how many whole inches?

12 half inches make how many whole inches ?

in. means the same as inch or inches.

ft. means the same as foot or feet.

2 in. and 4 of an in. equal how many halves
of an in.?



54 LESSON 60

SLATE ‘WORK

942= 9-56= 2410= 3 of 8=
44-3= 8—-2= 3+ 9= 1of 8=
6+42= 8+4= 84 4= +of 9=
84+3= 6+3= 71— 5= 3 of 12=
6+4= 9+-3= 6— 2= ‘} of 12=
Copy and finish:

In one year there are months.

In } of a year there are months.

In % of a year there are months.

In 1 of a year there are months.

3 of a foot =-—in. 4 half inches= — in.
3} of afoot =—in. 6 half inches= — in.
3 of a foot =—in. 8 half inches= — in.
1 of a dozen= — 10 half inches= — in.
1 of a dozen= — 12 half inches= — in.

Copy and add:

3 2 2 4 1 6 1 5 3 4
4 3 2 2 5 1 2 2 4 1
1 5§ 3 3 2 3 3 3 1 2
3 2 1 3 3 2 6 2 3 5




LESSON 51 55
SLATE WORK

There are 4 weeks in 1 month. In 2 months

there are weeks.
In 3 months there are weeks.
In 1 gallon there are quarts.

In 1 gallon and 2 quarts there are ——
quarts.

In 2 gallons and 3 quarts there are
quarts.

In 3.quarts and 1 pint there are pints.

4 apples and 3 apples and 5 apples are
apples.

In 11 there are
mainder.

A boy has a 5-cent piece and a 2-cent piece.
How much more would he need to make
12 cents? He would need cents.

re-

threes and

Copy and finish :

9is — less than 12 2 fours and 3 are —
4 is — less than 9 2 fives and 2 are —
2 is — less than 8 3 threes and 3 are —
10 is — more than 3 3 twos and 5 are —
11 is — more than 7 4 twos and 4 are —




56 LESSON 52

1linch 1inch 11inch

$in. ¢in.

$in. | 3in.| }in. | }in.

ORAL WORK

If an inch is divided into 2 equal parts, each
of these parts is called 4 of an inch.

If an inch is divided into 4 equal parts, each
part is called 1 of an inch.

How many half inches are there in 14 inches?
Count them.

How many half inches are there in 21 inches?
Count them.

Howe many fourths of an inch are there in 1
inch? Count them.

How many fourths of an inch are there in }
of an inch ? in 1} inches?

How many fourths of an inch are there in 2
inches? in 2} inches? in 3 inches?

How many half inches are there in 6 fourths
of an inch? in 8 fourths of an inch? in
10 fourths of an inch?




LESSON 58 87

13 13
00 990 |°, cecse|®®
oo o0 ° e oo | OO
104+ 3= 9+44=
13— 8= 13-4 =
13—-10= . 18 —-9=
13+10= 18+9=
13 13
ceee %] |o% olece
8+ 6= T+6=
54+ 8= . 6+7=
13— 6= 13 —-6=
13- 8= 13—-T=
183+ 8= ' 13+ T=

SLATE WORK

2%5,43= 2%6,4+1= 3x4,4+1=
183—5 —-56= 13—6 —6= 13—4—4 —4=
13 —5= . 13 —-6= 13 —-4=

13= 44+ — 84— =13 2x5+ — =13
13= 64+ — 44 — =13 2x6,4+ — =13
13= 84 — 24 — =13 3x4,4+ — =13
13= 94+ — 34 — =13 565x2,+ — =13
13= 7T+ — 6+ —=13 4x3,+— =13
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LESSON 54

SLATE WORK

Copy and find the difference :

7 9 11 10 11 12 12 13
4 6 6 T 8 6 9 10
Copy and add :
5 2 4 2 6 3 2 8
3 8 6 5 3 5 7T 3
4 1 3 5 4 4 2 2
Copy and finish :
13=10=1, and 3 left over.
13- 9= , and left over.
13—~ 6= ——, and left over.
13- 4= —— and left over.
13- 7= ——, and left over.
13+~ 5= ——, and left over.
13- 8= ——, and —— left over.
12= 5= ——, and —— left over.
12= 7= ——, and —— left over.
11= 3= , and left over.
11+ 7= , and —— left over.

11= 4= , and —— left over.

Iro o on




LESSON 55 59
SLATE WORK
Find the values of :
343434341 2424242424241
4x3,+1 6x2,+1
13—3—-3—-3-3 13—2—-2-2-2-2-_2
13+=-3 132
2%x5,+ — =13 2x3,+ — =13
4%x2,4+ — =13 I, 4+ — =13
3x3,+ — =13 %2, 4+ — =13
4%3, 4+ — =13 4x2, 7= 3
3x2,4+ — =13 6x2, —?=1
2%x2,4+ — =13 3x3, —?’= 2
S5x1l,4+ — =13 4x3, —?’=5
"x1,+ — =13 d5x2, —7= 3
2%x6,+ — =13 11x1, —7?7= 4
ORAL WORK
6 and 4 are — 9 less 4 are — 9+-3=
3and 7Tare — 12less3are — 12+3=
S5and 5are — 13 less4are — 12+-4=
6and 5are — 1l less 7Tare — 12+6=
4 and 5are — 1l less Sare — % of 12=
7and 2are — 13less6are — }of 9=



ORAL WORK

How many fourths of an orange are there in
1 of an orange? in 1 orange? in 2 oranges?

How many fourths of an orange are there in
14 oranges? '

How many whole oranges equal 4 fourths of
an orange? how many equal 8 fourths?

How many days are there in 10 half days?

How many pints are there in 12 half pints?

If 2 oranges are equally divided among 4 boys,
what part of an orange will each boy
receive? 2 oranges equal halves of
an orange?

If 4 pies are equally divided among 8 men,
what part of a pie will each man get?
4 pies equal halves of a pie?

If 2 pears are divided equally among 4 boys,
what part of a pear will each boy get?
2 pears equal fourths of a pear.




LESSON 57 61

SLATE WORK

2 fives and — =12 2 twos and — =13
3 twos and — =13 4 threes and — =13
4 twos and — =11 6 ones and — =13

3 threes and — =11

2 fours and — =13

2 threes and — =13 6 twos and — =13

At 2 cents apiece, 5 eggs will cost —— cents.

At 3 cents a pint, 4 pints of milk will cost

cents.

At 1 cent an inch, a foot of ribbon will cost

cents. :

If 1 a gallon of cream costs 12 cents, 1 quart
will cost cents.

At 2 cents each, 4 a dozen lemons will cost

cents.

3 feet make a yard.
——feet. In 3 yards there are
In 4 yards there are feet.

In 4 yards there are halves of a yard.

At 12 cents a quart, a pint of ice cream will
cost cents.

If a load of coal costs 6 dollars and a yard of
silk 3 dollars, they both cost —— dollars.

In 2 yards there are
feet.




62 LESSON 58

Peck Bushel

ORAL WORK

2 pints make 1 quart.
8 quarts make 1 peck.
4 pecks make 1 bushel.

A quart of peas is how many pints?

A peck of potatoes is how many quarts?

How many pecks equal 2 bushels? 3 bushels?

How many pecks equal 1 of a bushel ?

What part of a quart is 1 pint?

If a quart of tomatoes is worth 12 cents, how
much is a pint worth?

1 peck and 4 quarts are how many quarts?

How many quarts equal 14 pecks?

How many quarts of beans are there in a
peck measure if it is half full ?

1 pint is' what part of a quart?

1 quart is what part of a peck?




LESSON 59

14

63

104+ 4=
44+10=

14 +10=
14

14— 4=
14-10=

8+6=
648=

14—-6=
14 -8=

T+7T=
2xT=

14 +8=

14

14 -7=
144+T7=

%Of 14=

64+642=
2%x6, +2=
14—-6—-6=
14—-6—-2=
84 6=
44-10=
54+ 9=
T+ 7=

3 of 14=

SLATE WORK

5454+4=
2 x 5, +4=
14-5—-5=
14—-5—-4=

14—6=

4444442=

3x4, +2=

14—4—4—4=
14—4—-4-2=

14—2—4::'
14 2=
14+-7=
12+-6=



64 LESSON 60

; SLATE WORK

14= 84— 84 —=14 2x54—=14
13= 94 — 64 —=14 3x2,+—=14
14=114+ — b5+ —=14 4x2,4+—=14
13= 24+ — T4+ —=14 6x2,+—=14
4= 64— 94+ —=14 3x3,4+—=14

Copy and add::

3 4 5 2 3 5 7 3
4 2 3 7 8 6 2 4
5 7 6 é 3 3 5 7
Copy and find the difference :
8 9 8 10 11 12 13 14
2 4 3 4 3 7 8 9
12 11 10 13 14 14 13 14
4 7 3 4 6 3 2 5
Copy and finish:
14 +-4= , and left over.
-14+-5= ——, and —— left over.
- 14+9= —— and —— left over.
14+-8= , and left over.
. 14+-6= , and —— left over.




LESSON 61 65

SLATE WORK

3 twos and — =14
2 fives and — =14
3 threes and — =14
4 twos and — =14

2 twos and — =14
5 twos and — =14
3 fours and — =14
4 threes and — =14

2 fours and — =14 7 ones and — =14

3x2, +44= 2o0nes +8= 12+3, 4 6=
4x2, +3= 38twos +6= 12+4, + 9=
4%x1, +46= 2 fours 4+6= 8+2, 4+ 8=
2%x4, +5= 3fours —3= 105, +12=
3%x3, +4= 4 threes—8= 9+3, + 8=
ORAL WORK
5 and 8 are — 12 less 5 are —
3and 7 are — 13 less 7 are —
4 and 8 are — 11 less 3 are —
9 and 2 are — 10 less 6 are —
6 and 7 are — 14 less 5 are —
5and 9 are — 14 less 3 are —
6 and 8 are — 14 less 11 are —
7 and G are — 14 less 9 are —
5and 7 are — 14 less 7 are —
9 and 4 are — 13 less 8 are —

GRAD, ARITH. 1. —§



66 LESSON 62

ORAL WORK

Add at sight :

T 5 7 3 6 8 9 6 4 T
4 ¢ 3 0 7 4 2 5 8 1
3 4 3 9 210 11 12 11° 10
§ 86 5 5103 2 2 3 ¢

~Carl has 12 pigeons. Bert has 3 as many.
How many pigeons has Bert?

It takes 12 yards of silk to make Sallie a
dress. It takes 1 as much to make a
dress for her little sister. How many
yards are needed for her sister’s dress?

It takes 14 yards of ribbon to trim Maud’s
dress. It takes only } as much for her
doll’s dress. How many yards are needed
for her doll’s dress?

How much will 2 quarts of green peas cost

at 7 cents a quart?

How many feet are there in 14 half feet ?

A girl bought a yard of lace for 7 cents, and
a spool of silk for 5 cents. How much
did she pay for both?




LESSON 63 67

SLATE WORK

13 How many 2’s are there
[ ] [ ] e | e ol e ° in 13 ? ’
bl Tl Al B Bl B There are six 2’s in 13,
24+24+2+2+2+2+1

and 1 remainder.
In the same way show :
How many 5's there are in 12.
How many 3’s there are in 11.
How many 4’s there are in 13.
How many 3’s there are in 12.
How many 6’s there are in 14.

Copy and finish:

2x1= 2x6= 3x4= S5x2=
2%x2= 2x 7= 4x1= 6x1l=
2x3= 3x1l= 4x2= 6x2=
2x4= I3x2= 4x3= Tx1l=
2x65= 3x3= dxl= TxX2=
14+-2= 3 of 14= 54+ 4,—3=
12+ 6= $of 12= T+ 5—6=
8+2= 3of 8= 84+ 6,—T=
10+5= 1 of 10= 94 3,—6=

124 = }Of 12= 2410,—5=



68 LESSON 64

ORAL WORK

A farmer raised 13 turkeys and sold 8 of
them. How many did he keep?

There are 7 days in one week. How many
days are there in 2 weeks ?

A boy earned 9 cents on Monday and 5 cents
on Tuesday, by selling papers. How
many cents did he earn in both days?

How many inches are there in 8 fourths of
an inch?

How many cakes at 2 cents each can you buy
for 12 cents?

How many weeks are there in 3 months?

How many feet make a yard ?

How many yards are there in 9 feet?

How many fourths of an apple are there in
14 apples?

Jennie picked 3 quarts of berries and sold
them at 4 cents a quart. How many
cents did she get?

A man bought 13 barrels of apples. He kept
6 barrels and sold the rest. How many
barrels did he sell ?




LESSON 65 69

ORAL WORK

How many halves are there in 2 and 1 half
oranges? in 1} oranges?

How many oranges are there in 5 half oranges?

How many days are there in 5 half days?

How many half days are there in 2 and 1 half
days?

How many half bushels are there in 1 and 1
half bushels?

How many months are there in 10 weeks?

How many pints are there in 5 half pints?

A bagrel holds 5 half bushels of apples. How
many bushels is that? how many pecks?

A pail holds 5 pints. How many quarts is
that?

If you draw a straight line one yard long,
how many feet long is it?

How many half feet equal a yard? } a yard?

How many feet equal 4 of a yard ?



70 LESSON 66

15 16 156 -

oo o000 900 4,400 e0oe |00 o
% % | % ::: eoe eoee|e% o
10+ 5= 94+ 6= 8+ 7=
5+10= 6+ 9= T4+8=
15— 5= 15— 6= 156-T=
15-10= 15— 9= 15—-8=
15+10= 15+10= 15+8=

16 " 16
) tof15=[eee
jof 16= % cee
:o: see
P eee
o’ eee
SLATE WORK
94-6= 15+-6= 134 2= 16+-3=

104-56= 156—-8= 4411= 8—-3=

T4+8= 15—4= 7+
l441= 15—-1= 12+

15= 94— 64— =15
15= T+ — 34 — =15
15=104+ — 44+ — =15
15= 84— 24+ — =15
15= 5+ — 124 — =15

6= 12-5=

5= 13—-7=
3= 156—-7=
3)(2,-[- — =15
3x4,+ — =15
2X5,+ — =15
3x3,+ — =15

2%x2,4+ — =15




LESSON 67

1
16

16 16
000 (00O 000|000 O
.:. .:. b o000 | 000 ..
T+7 +1= 6+6 +3=
2x 7, +1= 2x6, +3=
5-7 —T= 15—6 —6=
15-7 —-1= 156—6 —8=

15+T= 15+6=

SLATE WORK

2x 6,+ — =15 64

2x 5+ — =15

2x 1,+ — =15

3x 4,+ — =15 12+

4x 2,4 — =15 9=

3+ 44+ — =15 8=

54 54+ — =15 12+
12—447= 5x2 — 3=
13—3—6= " Tx2,— 8=
14—8+4+9= 2%x6,— 5=
11-542= 3x4,— 1=
15—948= 3x3,— 5=

13—7+5= 6)(2,— 4=

5+5+5=
3xb=
15-5-56=
156+5=
$of156=

T+ — =15
2410 4+ — =15
14+ 2,4+ — =15
6,4+ — =15
3,4 — =15
2,4+ — =156
2,4+ — =15

15+-10=
15+ 8=
15+ 6=
156+ 7=
156+ 5=




72 LESSON 68

ORAL WORK

Read at sight:

8and 7are — 14less8are — 14+7=
10 and 5 are — 151less 6 are — 14+2=
3and 9are — 13 less 9Qare — 15=5=
11 and 4 are — 151less 8are — 15+3=
13and 2are — 14 1less6are — 12+3=

Read at sight: -

$of 4= 3of 6= }of 10= 5x3=
1 of 4= 3of 8= $of12= 4%x2=

}of 9= 1of 8= 2x6= 3x4=
3 of 6= 3 of 10= 3x3= 3xo6=
3 twos4+ — =156 3 fours + — =15
4 twos4+ — =156 3 threes4+ — =15
2 fives4+ — =156 2 fours + — =156

~ How many 6’s are there in 157

In 15 there are two 6’s, and 3 remainder.
How many 4’s are there in 13? 4’s in 15?
How many 8's are there in 11? 7’s in 12?
How many 5’s are there in 14? 3’s in 14?
How many 7’s are there in 157 12’s in 157
How many 9’s are there in 14? 5’s in 15?




LESSON 69 78

SLATE WORK

At 5 cents a quart, 3 quarts of nuts will cost

cents.

Lulu had 5 paper dolls, Mabel 4, and Mary
6. How many paper dolls had they all?
They all had —— paper dolls.

Eddie earned 15 cents in two days. The first
day he earned 8 cents. How many cents
did he earn the second day?

A room is 15 feet long and 12 feet wide.
How many yards long and how many
yards wide is it?

If I divide 2% apples equally among 5 boys,
what part of an apple will each boy get ?

There are 14 doors in my house. 8 of them
are downstairs. How many are upstairs?

A woman gave 7 pinks to one little girl and
6 pinks to another. How many pinks
did she give away ?

How much will 5 pencils cost at 3 cents
apiece ? _

There are 6 cows in one field and 9 in another.
How many are there in both fields?




74 LESSON 70

ORAL WORK

Add at sight:

7T 3 8 4 5 6 4 13 9 11
6 9 8 6 7 7 10 2 4 4
7 3 10 3 2 14 13 2 5 6
46 4812 1 11 9 8
Read at sight:
1 and 3and 4 are — 3 and 4 and 5 are —
2and 5and 6 are — 9and 1 and 4 are —
3and 8and 2are — 8 and 3 and 2 are —
5and 1 and 8are — 7 and 4 and 3 are —
7and 6and 1 are — 8 and 5 and 2 are —
Name the difference at sight:
7 10 8 9 5 14 12 11 13 15
5 5§ 5 5 5 65 5 5 5 5
13 10 7 8 14 6 9 15 13 11
6 6 6 6 6 6 6 6 6 6
Add at sight:
5 5 5 5 8 86 5 5 8 b
é (_i 4 8 3 g 2 7 l 10




DN =3 — DN = =g
J— v W 0 DN

104+ 3=

LESSON T1

SLATE WORK

Copy and add :

3 7 6
1 &6 2
5 2 3
2 3 1
T 2 3
4 5 2
1 4 ¢
Copy and finish :
10—-56=
11-6=
12—-7=
13—-8=
%0f15=
%—Of].‘]::
}of 14=
24 13=
34+ 12=
44+ 11=
54+ 10=

3+12=

75

8 1 2 4 2
2 3 6 1 3
409 4 2 3
5 1 3 1 &6
2 4 4 3 4
1 7 2 7 2
11 3 3 3
16—-13= 15+13=
15—11= 15=11=
15—-12= 15=12=
156—10= 15+10=
16—-14= 15+14=
2x — =14
3x — =12
4x — =12
5x — =156
156=6x7,4+3
156=3x?,+6
15=2x?2,+5

15=4x%x?,4+7



76 LESSON 72

16 16 16
eecce 00 eece o e xXaexx
eccee 0o ecee (00 e XX x

104+ 6= 94+ T= 8+8=
6+10= T4+9= 2x8=
16— 6= 16—T= 16 -8=
16—-10= 16 — 9= 16 +8=
16 +-10= 16+9= Jof 16 =
16 16 16

) jofl6=[e e

:: Jof16=|e e P

X e e P

3of 16=|°**® o o0
' L hlld

LX) LA L)

) .o P

) . o e

SLATE WORK

94 7= 16-9=
124 4= 16—6=
134 3= 16—8=

5411= 16—-5=
84+ — =16
5+ — =16

2x4,+ — =16

3x3,+ — =16

16+ 2= 4 of 16=
16+ 8= 4 of 16=
16+10= }of 9=

3 of 14+ — =16
}of 14,4 — =16
3of 12,4+ — =16
$of 15,4+ — =16



LESSON 78 77

ORAL WORK

How many quarts are there in 4 gallons?

How many gallons are there in 12 quarts?

How much will 3 pints of milk cost at 8
cents a quart?

How many eggs must be put with a dozen to
make 16 eggs?

1} dozen eggs are how many eggs?

At 2 cents for an egg, how much will } a
dozen cost ?

What part of a foot is 6 inches?

What part of a yard is 14 feet?

John picked 24 quarts of cherries and James
picked 3} quarts. How many quarts did
they both pick ?

How many more quarts did James pick than
John?

How many oranges must be put with § a
dozen to make 16 oranges?

9 peaches and 4 of a dozen peaches are how
many peaches?

At 5 cents a quart, how many quarts of ber-
ries can you get for 15 cents?



78 LESSON 74

SLATE WORK
16

% | % | % | ® |= 3 times 5, 4+ 1.

5+56+56+1

In the same way show:
That 16 =4 times 4.
That 16 =5 times 3, +1.
That 16 =8 times 2.
Copy and finish:
At 8 cents a quart, 3 a gallon of milk will

cost cents.

In 15 pints there are quarts and ——
pint.

There are 7 days in 1 week. In 14 days
there are weeks.

If a boy worked every week day, except one
day, for 2 weeks, he worked days.
John gathered 16 water lilies and gave 4 of
them to his sister. How many had he
left? He had left lilies.

At 3 cents a yard, I can get
tape for 16 cents and have

yards of
cent left.




LESSON 75

ORAL WORK

Read at sight:

7-|- 3= 3xX2=
64+ 4= 2x4=
13— 7= 2x5=
15—14= 2x6=
pof 15= 3x?=12
3of 12= 4x?=12
$of 10= 6x7=12
4 twos +7=11

3 threes4?=16
2 fives 47=16

12-5-7= 0
14—-9-7= 3

3x3=
3x4=
3xX5=
2x 7=
2x8=

79

12+-6=
14=7=

9-:—3=
16=-8=
10+-5=

8x?=16 14:+?=7
Tx?=14 15+?=3
12+-7= 4 16=-7=8
10+-?= 2 16+7=2

5 threes4-?=16
7ones +4?7=16
7 twos +7=16

SLATE WORK

13—347=16

16+-5647=14
11—4—-?= 0

15 hens less 8 hens =
13 ducks less 5 ducks =
16 sheep less 9 sheep =
7 hogs and 8 hogs =
3 caps and 12 caps =
9 desks and 7 desks =
2 rulers and 13 rulers=



80 LESSON 76

SLATE WORK

4444+4= 54545= 12—4—-4_4=
3x4= 3 xb= 15—-56-5—-56=
3+343= T4+7 42= 9-3-3-3=
3x3= 2x7,42= 6—2—-2—-2=
44+44444= 64+6 +4=
4x4= 2%x6,+4=
4444443= T+7 +4=
3x4,+3= 2x 1, +4=

ORAL WORK

Count forward by 2's from 2 to 16.
Count forward by 3's from 3 to 15.
Count forward by 4’s from 4 to 16.
Count backward by 2’s from 16 to 0.
Count backward by 3’s from 15 to 0.
Count backward by 4’s from 16 to 0.

Sight exercise:
3, 7,6,8 2 4, 9 1, 10, 5 1L

Add 5 to each number above.
Add 4 to each number above.
Add 6 to each number above.




LESSON 17 81

founce 2 4 8 | pound

ORAL WORK

Sugar, coffee, tea, and many other things are
bought and sold by the pound.

Name five other things that are bought and
sold by the pound.

How many of you have seen the storekeeper
weigh sugar?

What else have you seen weighed at the
store ?

What do you see in the picture?

What is the name of the smallest weight you
see in the picture?

What is the name of the largest weight?

It takes 16 one-ounce weights to balance the
pound weight.

How many eight-ounce weights will it take
to balance the pound weight?

GRAD, ARITH. I.—6



82 LESSON T8
ORAL WORK

16 ounces make 1 pound. How many ounces
are there in 4 of a pound? in } of a
pound ?

If you buy % of a pound of tea, how many
ounces of tea will you get?

How many four-ounce weights will it take to
balance the pound weight?

4 ounces are what part of a pound ?

How many 2’s are there in 16?7 2 ounces
are what part of a pound?

How much will 2 pounds of sugar cost at 5
cents a pound? How much will 3 pounds
cost ?

How much will 1 pound and 8 ounces of beef
cost at 8 cents a pound ?

At 2 cents an ounce, how much will 8 ounces
of ginger cost?

Name four things that are sold by the dozen.

Name four that are sold by the gallon.

Name five that are sold by the bushel.

_ Name five that are sold by the yard.

16 quarts equal how many pecks?




LESSON 179 83

SLATE WORK

1 foot = — inches 1 bushel = — pecks
1 yard = —feet 1 peck = — quarts
1 gallon= — quarts 1 quart = — pints
1 quart = — pints 1 pound = — ounces
1 pint = —gills 1 month= — weeks

1 dozen= — things 1 week = — days

How much will 16 eggs cost at 12 cents a
dozen? They will cost cents.
How much will 1} dozen nutmegs cost at a
~ cent apiece? They will cost cents.
At 2 cents apiece, how many bananas can you
buy for 16 cents?

How much will 2 quarts of cider cost at 14
cents a gallon?

John picked 4 a bushel of blackberries. How .
many pecks did he pick? how many
quarts ?

1 a bushel= —— pecks.
3 a bushel =
16 quarts equal how many gallons?

quarts.



84 LESSON 80
17 17
eccee o0 ::: eoeoe
EEEERREERE) e oo ®00e
7+10= 8+9=
17—-10= 1T—-9=
17+10= 17T+9=
SLATE WORK
17
€00 000 0° =2times6, +5.
eoeo 000 |ee
6+645

In the same way show:
That 17 =3 times 5, 42.

That 17 =4 times 4, +1.

That 17=5 times 3, +2.

That 17 =8 times 2, +1.
17=104+ — 134+ — =17 17— 8=
17= 84 — 154 — =17 17— 9=
17=134+ — 124 — =17 17—-11=




LESSON 81 85

ORAL WORK
Read at sight:

748= T+ 6= 44 9= 7T+10=
64+5= 84+ 5= 2411= 9+ 5=
448= 64+ 4= 54 7= 104 7=
24-9= T+ 3= 94+ 7= 4411=

T4+3= 84 5= 34+13= 2415=
1244=  5411= 64+ 9= 124 3=
1442= 134 3= 84 6= 114 6=
1245=  3411= 144 3= 84 9=

Read at sight:
10—8= 11— 6= 9— 8= 11— 4=
8—T7T= 10— 5= 9— 7= 11— 5=
9—6= 8— 4= 10— 6= 8— 6=
8—56= 10— 7= 9— 5= 12— 7=
9—4= 8— 8= 10— 4= 11— 8=

12—4= 13— 8= 16— 4= 17— 8=
12—-6= 12— 7= 17— 6= 17— 7=
12—6= 14— 6= 13— 6= 16— 6=
13—7= 15— 6= 16— 7= 16— 6=
12—8= 13— 4= 15— 8= 14— 4=



86 LESSON 82

SLATE WORK

2%x3, +71=14 164, +7=13
3x4, +7=16 - 165, 4+72=14
4x2, +7=15 142, 47=17
2%x6, +?7=17 124, +7=15
3x3, +7=17 16 =8, +2=17
17—6—-6—-5= 17-7-7-3=
17—-5-56—-6= 17—8—8—-1=

If a boy spent 9 cents and had 8 cents left,
he must have had —— cents at first.

There are gallons and quarts in 17
quarts.

In 17 quarts there are pecks and ——
quart.

In 17 pecks there are bushels and ——
peck.

At 8 cents a pound pounds of soap can
be bought for 16 cents.
At 6 cents a quart 2 quarts and 1 pint of

beans will cost —— cents. ‘
There is foot and inches in 17
inches.
There are yards and feet in 17 feet.




LESSON 88 87

ORAL WORK

Anna is 12 years old. In how many years
will she be 17 years old ?

James is 17 years old. His little sister is 8 -
years old. How old was James when his
sister was 6 years old ?

3 little girls and 1 little boy went out to
gather nuts. The little girls each got 4
quarts, and the little boy 5 quarts. How
many quarts did they all get?

There were 11 roses on a bush yesterday.
To-day there are 17 on it. How many
more roses are there on the bush to-day
than yesterday?

8 pairs of gloves are how many gloves?

Nettie has a rope that is 5 yards and 2 feet
long. How many feet long is it?

How many pairs of legs have 2 spiders?

A boy picked 9 bushels of apples from one
tree, and 8 bushels from another. How
many bushels did he pick from both trees ?

8 feet were cut from a rope 17 feet long.
How many feet were left?



88 LESSON 84

SLATE WORK

Add:
6 9 8 6 8 7 9 8
7 5 2 4 7 3 1 3
3 3 6 1 2 6 7 6
1 3 4 3 5 3 2 4
4 4 3 3 4 5 4 4
4 2 2 3 3 2 4 3
3 5 1 6 1 3 3 3
5 1 6 2 é 4 3 3
16 +-7=2, and 2 remainder '
17+-8= 17+5= 12+5=
13+-6= 17=9= 16=+-9=
17+6= - 15—:-4: 13—:-6:
3of 12, + 9=11 3 of 14, +10=
3 of 16, +-13= 3of 12, + 8=
}of 14, +12= $of 16, +156=
3of 15 +11= 3of 16, + 6=
3of9, +14= 30of 10, +12=
12+4, 4+ 9= 4%x3,+ 5=
16+-8,+12= - 2%x8,— 8=
15-:—3,— 3= 3)(5,— 9=




LESSON 85 89

18 18
BRI cee | ses
8+10= 2x9=
18— 8= 18—-9=
18— 10= 18 +9=
18+10= $of 18=
18 18
e O o e 0 o [ N ] [ N ] o e
e & o ® o o [ N ] [ I ] [ Y ]
o 0 o e O o e [ N ] e e
3 of 18= }of 18=
18 18
slslelslsls slelelelelelslele
&of -}of
18= 18=
SLATE WORK
18=104 — 94+ — =18 18—16=
18= 94 — 134+ — =18 18—-15=
18= T4 — 114+ — =18 18—14=
18= 64 — 84+ — =18 18—13=

18+10= 1345= 18+6= 1 of 18=
18+ 7= 1146= 18+2= 3} of 18=
18+ 8= 1444= 18+3= 3}of18=
18+ 6= 1543= 18+9= }of18=



LESSON 86

ORAL WORK

90
Read at sight:

2x1= 2x6=
2x2= 2x 7=
2x3= 2x8=
2x4= 2x9=
2x5= 3x1l=
dx2= 6+-3=
dx3= 10+-2=
6x2= 12+-4=
6x3= 10+-5=
9+ 9= 11+ 7=
8+10= 7+ 9=
16+ 2=  64+12=
34+15= 84 1=
44-14= 5413=
12— 2= 10— 1=
13— 3= 10— 2=
14— 4= 10— 3=
15— 5= 10— 4=
16— 6= 10— 5=

I3x2=
I3x3=
I3x4t=
I3x6=
3x6=

16+-4=
18+=-3=
18+-9=

18—9=
16-9=
14—9=
15—-9=

94+1=
944=
9+4+5=

4x1=

4x2=
4x3=
4x4=
5X1=

3 of 18=

}of 16=
3 of 16=
3 of 16=
1of 14=

17-7=
18—17=
16—7=
14—7=
15—7=

845=
8+4+6=
8+4+9=




LESSON 87 ) |

SLATE WORK
18

8+8+2

=2 times 8, + 2.

In the same way show:

That 18=2 times 7, 4-4.
That 18=3 times 6.
That 18 =3 times 5, +3.
That 18 =4 times 4, 4 2.
That 18 =6 times 3.
That 18=9 times 2.

18+ 5=3,and 3remainder 40f18, + 7=16

18+ 7= }0of16, +10=
18+ 8= $0f18, +15=
18+ 4= $of18, +14=
18+-10= 30f16, + 9=
18+12= $ofl4, +13=
Add:
5 2 6 2 8 6 7 3 4
4 7 2 4 3 2 3 8 5
3 4 3 4 3 6 2 3 4
5 8 1 8 4 & 5 4 5



92 LESSON 88

SLATE WORK

T+7 +44= 64646= 5454543=

2x7, +4= 3x6= 3x95, +3=
18—7 —7= 18—6—-6= 18—-5—-5—5=
18=-T7= 18+6= 18+-5=
Subtract:
18 18 18 18 18 18 18 18 18
7 9 6 5 10 8 4 11 3
18 18 18 18 18 18 18 18 18
1 12 2 18 15 14 17 16 18

ORAL WORK
Sight exercise :

7, 4, 12, 9, 11, 6, 8, 13, 5, 10, 14
Subtract 2 from each of the above numbers.
Subtract 3 from each of the above numbers.
Subtract 4 from each of the above numbers.
Add 2 to each number above.

Add 3 to each number above.

Add 4 to each number above.

Show by dots on cards how many 3’s there
are in the following: 6, 9, 12, 15, 18.



LESSON 89 93
SLATE WORK

Show six ways of composing each of the fol-
lowing numbers :

11=343+43+2, =3x3, +2, =4+443,
=2x4, +3, =5+5+1, =2x5, +1.

13=4+4+4+1, =3x4, +1, =4 toey,
= eee X veey e, et dr e =eee Xooney oo, .

1T =i dreee, =meee X ooy Froey, =eeedrenedoer,
== X ovey o, =meee st ene, =maee X oen, Foen,

16=idredees, =iee X e, Foeey, =evegrenadeoer,
= Xooes, Froee, mevedredren, =ae X e,

18=949, =2x9, =ededon =X
R e e R T L e

Copy and finish:
In 11 there are 3 threes and 2 over; ——

fives and over.
In 13 there are fours and over.
In 17 there are sevens and over.
In 18 there are eights and over.
In 15 there are sixes and over.
In 14 there are sixes and over.

181is
4 is

more than 5.
less than 16.

more than 10, and
less than 11, and
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19

R : : :

e e e 0o o400

104+ 9= 19— 9=

94+10= 19+10=

19 19
AR R N P a4 R
9+9 +1= 19—-9—-9= 848 +3= 19—-8—-8=
2x9, +1= 19+9= 2x8, +3= - 194+-8=
SLATE WORK

19=10+ — 19=16+ — 54 — =19
19=114 — 19=18+ — 64 — =19
19-=134+ — 84+ — =19 34 — =19
19=144+ — 124 — =19 104+ — =19
19=154 — 24 — =19 134+ — =19
19—-2= 19— 8= 19—-13= 19-=13=
19—-5= 19—-10= 19-15= 19-=+11=
19-7= 19— 9= 19-16= 19+14=
19—3= 19-—-12= 19—-17= 19=16=

19—6= 19-11= 19-18=

19=-18=



LESSON 91 95

ORAL WORK

Read at sight:

9and 8 are — 13 and 6 are —
12 and 3 are — 14 and 5 are —

3 and 14 are — 18 less 7 are —

7and 9are — 17 less 5 are —
16 and 3 are — 19 less 10 are —
14 and 4 are — 19 less 11 are —
10 and 8 are — 19 less 17 are —
11 and 8 are — 19 less 15 are —

14+=-3=7? 14 divided by 3 equals 4, and 2
' over.

16+-5= 17+ 5= 16+11= 19+ 4=
13+-8= 17+ 7= 16+ 9= 19+ 5=
11-4= 17+ 6= 15+ 7= 19+ 6=
14+-5= 18+=10= 11+ 3= 19—+ 9=
16+-83= 18« 5= 18+ 7= 19=14=

4%3, +7=? 4times 3=12; 12 plus* 7=19.

3x2, +10= 7x1, +11= 8x1, 49=
6x2 + 3= 4x2 +10= 2x8 +3=
2x4, + 9= Ox1l, +12= 2x7, +4=
2x5, 4+ 7= 3x3, + 9= 5x%x2, 49=
7X2,+ 5= 3X5,+ 4= 5)(3, +3=

* plus is the word for + and means and.
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SLATE WORK
19

T+7+5
In the same way show:

That 3 times 6,+1=19.
That 3 times 5,4+4=19.
That 4 times 4, +3=19.
That 6 times 3,+1=19.

=2 times 7, + 5.

6+4+6+6 +1= 19—5—5 —4=
3XG,+1= 19 —-4=
19—6—6 —6= 4444444 +3=
19—-6—-6 —1= 4x4,43=
19:6=  19—4—4—4 14—
54545 +4= 19—4—4—4 3=
3x5,+4= 19+-3=
19—-5—-56 =6=
19 —7=12 3x2,4+7=13 18+2,4?=16
19 —?7=10 4x2,4?=17 16+4,4+7=16
19 —?= 8 5%x2,4?=19 18+6,42=17
19 —?=11 3x4,4?=19 18+9,47=19
19 —?7=13 3x3,4+?=19 16+2,4+?7=19
19 —?7=15 2x6,4?=19 14+7,+4?2=16




LESSON 93

SLATE WORK

Add:
5 5§ 6 b
4 1 2 3
3 9 8 7
6 1 2 3
4 2 6 2
4 2 6 2
3 5 3 7
83 6 3 7
Subtract
19 18 17 16
8 7 6 5
17 13 16 18
12 9 18 9
3x4= 6X3=
5% 3= Tx2=
6X2= 8X2=
3X3= 2X7=
4x2= 3x5=

GRAD. ARITH. 1, —17

[ O = O

ES TN

oo v v o
[ > > o>

jeo o o o
| Ov x>

2x5=
2% 6=
4:)(4:
Ix2=
2% 9=

97

5 &5 5
T 8 9
3 2 .1
4 3 2
9 7 1
3 3 2
2 7T 9
5 2 7
12 9 8
1 8 1
14 19 18
6 8 7

5x?7=15
19—-7=11
1142=17
18+?7= 6



98 LESSON 94
20
o0 000 0000
eeec0e | 0ccooe
10410 = 20-10=
2x10= 20+10=
2 tens =
20 20
XXX XXX 00 | o0 | o0 | o0
XXX XXX oo | oo | o0 | o
3 of 20= }of 20=
20 20
LN J [ N ] [ N J o0 [ N J [ AN AN AR BN BN BN BN BN BN ]
[ N ] (N J o0 o0 o0 [ AN BN BN BN BN BN BN BN BN J
3 of 1o of
SLATE WORK
20=194+ — 20=124+ — 54 — =20
20=184+ — 20=114+ — 20-—-19=
20=174 — 20=104+ — 20-—-18=
20=154+ — 84+ — =20 20-16=
0=144+ — T4+ — =20 20—15=
20=134+ — 64 — =20 20-14=
20+~ 2= 10f20= 1248= 2x8,+4 3=
20+~ 4= }of20= 134+6= 4x3,+ 7=
20+ 5= $of20= 1445= 3x3,+1l=
20+-10= ;0f20= 114+8= 4x4,4 4=
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ORAL WORK

Read at sight:

12 and 7 are — 5 and 12 are —
13 and 6 are — 19and 1 are —
15and 5 are — 20 less 10=
14 and 6 are — 20 less 9=
8 and 11 are — 20 less 8=
17 and 2 are — 20 less T=
16 and 4 are — 20 less 6=
3and 17 are — 20 less 5=
20+ 3=? 20 divided by 3 equals 6, and 2
’ over. )
20+ 6= 20+-12= 20+-19=
20+~ 7= 20+-14= 20+-17=
20+ 8= ) 20—I- 13= : 20—:-20:
20+ 9= 20+-15= 20+ 5=
20+-10= . 20+17= 20+ 4=

Count forward by 2’s.from 2 up to 20. .
Count forward by 3’s.from 3 up to 18. -
Count forward by 4’s from 4 up to 20. °
Count backward by 2’s from 20 to 0.
Count backward by 3’s from 18 to O..
Count backward by 4’s from 20 to 0.~




100

LESSON 96

SLATE WORK
20

clooe
+ [ X X J
ojeee

+9

In the same way show :

That 20=2 times 8, +4.
That 20=2 times 7, 46.
That 20=3 times 6, 42.

848 4+2=
2X8,+2=
20—-8 —8=
20—-8 —2=
20=-8=

144-7=20
1242=20
T42=20
94-7=20
114-2=20
15647=20

That 20=4 times 5.
That 20=>5 times 4.

T4+7 46=
2x7,46=
20—-7 —T7=
20—T7 —6=
20=7T=

5%x3,47=20
2x7,4+7=20
6x3,+7=20
4%x4,47=20
3x3,4?2=20
3x4,4?2=20
4x2,4+7=20

® |=2 times 9, + 2.

64646 +2=
3x6,+2=
20—6—6 —6=
20—6—6 —2=

20 —-6=

20—-?=17
20—-?7=11
20-7= 9
20=-?7= 5
20+?= 2



LESSON 97 101

ORAL WORK

10 cents make 1 dime.
5 cents make a half-dime.

How many five-cent pieces make a dime?

How many two-cent pieces make a dime?

If you have a half-dime and 2 two-cent pieces,
how many cents have you?

John has a dime, a half-dime, and a two-cent
piece. How much money has he?

Rob has a dime, a half-dime, a two-cent piece,
and a cent. How much money has he?

If he buys 8 two-cent stamps, how much
money will he have left?

I bought 3 loaves of bread, and gave the baker
2 dimes. He gave me back five cents.
What was the cost of each loaf of bread ?

I have 2 dimes in two-cent pieces. How
many two-cent pieces have 1?7

At 2 cents each, how many oranges can I buy
for 2 dimes?

How many pounds of sugar, at 5 cents a
pound, can you buy with a dime, a nickel,
a two-cent piece, and 3 cents?



102 LESSON 98

SLATE WORK

If 2 oranges cost 5 cents, how much will 4
oranges cost?

When 2 oranges cost 5 cents, how many
oranges can be bought for a dime? How
many can be bought for 2 dimes ?

If I can get 3 plums for a cent, how many
plums can I get for half a dime?

In a schoolroom there are 5 windows, and 4
panes in each window. How many panes
are there in the 5 windows?

A boy earned 20 cents and paid } of it for a
top. How much did he pay for the top?

How many ounces are there in 4 of a pound ?

A farmer had 20 sheep in one field and 1 as
many in another field. How many more
sheep had he in the first field than in the
second ?

A boy paid 15 cents for a copy book, and %
as much for a penholder and pens. How
much did he pay for all ?

How much will 3 eggs cost if 1 a dozen cost
18 cents?



LESSON 99 - 108

SLATE WORK

If half a dozen eggs cost 5 cents, how many
dozen can be bought for 2 dimes ?

How many feet long is a yardstick ?

How many feet are there in 6 yards?

How many pints are there in a quart? How
many quarts are there in a gallon? How
many pints are there in a gallon?

How many pecks are there in a bushel? How
many are there in 5 bushels?

At 5} cents a pound, how many pounds of
sugar can be bought for 11 cents?

A peck is 8 quarts. What part of a peck is
2 quarts? 4 quarts?

A score is 20. How many 5’s make a score?

From 20 chickens 14 were sold. How many
were left?

A little boy has 13 cents in his bank. If he
puts in a nickel more, how many cents
will he then have in his bank ?

If a pound of cheese costs 14 cents and a
pound of rice 5 cents, how much will both
cost ? '



104 LESSON 100

SLATE WORK

11— 34+2=15 18—6—5 —?= 4
4x3,4+7=20 jof 16,+?=15
16+8,+2=19 pof 15,47=19
948 —?=11 } of 14,+7=20
346 +4427=18 3 of 18,4+7=20
12—3 +9427=20 3 of 20,+7=16
14 16 11 20 20
-9 12 -7 =10 =15

3x2= 4x2= 2x4= b5x4= 8x2=
3x3= 4%x3= 2x6= 6x2= I9xl=
3x4d= 4x4= 2x6= 6x%x3= Ix2=
3x6= 2x2= 5x2= Tx2= 10x1=
3x6= 2x3= 65x3= 8xl= 10x2=

34+16= 947=20 18+?=2 }of?=6
8+12= 134?=17 14+?=2 }of?=4

Add:

|C0 = O W
joo o W W W
| e
[0 0 W Ov
IOtn-th‘NN
D DD D
DD QO =3 = =3
o = O @
[ = =3 ¥ o1 B



Arithmetics

SCHOOL ARITHMETICS

Appletons’ First Lessons in Arithmetic . . .
Numbers Applied . '
Milne’s Elements of Arithmetic .
Standard Arithmetic
White's First Book of Anthmetlc . .
New Complete Arithmetic . . . . .
Harper’s First Book in Arithmetic . . . .
Second Book in Arithmetic .
Fish's Arithmetic No. 1 . . . .
Arithmetic No. 2 . . . . . .
Ficklin's Elementary Arithmetic .
Practical Arithmetic
Ray's New Elementary Arithmetic
New Practical Arithmetic
New Higher Arithmetic .
Robinson’s New Rudiments of Anthmetuc .
New Practical Arithmetic . . .
New Higher Arithmetic . . .
Bailey’s American Comprehensive Arithmetic .
Moore's Grammar School Arithmetic .

MENTAL ARITHMETICS

Bailey's American Mental Arithmetic .
Davies's Intqllectual Arithmetic
Dubbs's Complete Mental Arithmetic
French’s Mental Arithmetic

Milne’s Mental Arithmetic

Ray's New Intellectual Arithmetic
Robinson’s New Intellectual Arithmetic

AIDS TO THE STUDY OF ARITHMETIC

Dubbs’s Arithmetical Problems, Teachers’ Edition
Dubbs’s Arithmetical Problems, Pupils’ Edition. Each
Ellwood’s Table-Book and Test Problems .
White's Oral Lessons in Number
White's Oral Arithmetic
Baird’s Graded Work in Anthmetlc

(In four parts for 1st, 2d, 3d, and 4th years )
Kirk and Sabin’s Oral Arithmetic. PartsIand II. Each

$0.36
75
.30
.65
.30

.65
30

.30
.30
.35

.85
.30
.65
1.00
.65

.35
.25
35
36
35
25
35

Copies of any of these books will be sent prepaid to anmy address, on

receipt of the price by the Publishers :

American Book Company

NEW YORK . CINCINNATI + CHICAGO

(4)



Mental Arithmetic

Bailey's American Mental Arithmetic . . 35cents

For Advanced Grammar Classes, High Schools, Academies, and
Normal Schools. Though only recently published, this book has
met with the highest favor, and is already in satisfactory use in
the best schools.

Dubbs's Complete Mental Arithmetic . . 35cents

For use in any school where Mental Arithmetic is taught. The
rapid introduction of this book on its own merit is the best evidence
of its sterling worth.

Milne's Mental Arithmetic . . . . 35 cents

This book follows the same inductive plan and method of develop-
ment which has proved so successful in the author’s other works.

Ray's New Intellectual Arithmetic . . . 25cents
The Mental Arithmetic of Ray's Series of Arithmetics.

.

Robinson’s New Intellectual Arithmetic . . 35 cents
The Mental Arithmetic of Robinson’s Series of Arithmetics.

ARITHMETIC TABLETS AND BLANKS

NATIONAL NUMBER TABLETS. 12 Nos. . Perdoz. 90 cents
RAY's TEsT EXAMPLE TABLETS. 8 Nos. .  Per doz. $1.00
P1PER'S GRADED SEAT WORK IN ARITH. 4 Nos. Each 8cents

These Tablets are very convenient and useful accessories in teaching
Arithmetic,

Copies of any of the above Mental Arithmetics will be sent prepaid to
any address, on receipt of the price by the Publishers :

American Book Company

NEW YORK . CINCINNATI . CHICAGO
(s)



Elementary English

The following books are adapted for beginners in
the study of Language and Composition :

LONG'S

New Language Exercises. Part I. . . . . -20cents

New Language Exercises. Part II, . . . 25 cents

Lessons in English (Grammar and Composmon) . 35 cents
MAXWELL'S

First Book in English . . . . . . 40 cents
METCALF AND BRIGHT'S

Language Lessons. Part 1. . . . . . 35 cents

Language Lessons. Part II. . . . . . 55 cents
METCALF’S

Elementary English . . . . . . . 40 cents
SWINTON'S

Language Primer . . . . . . . 28 cents

Language Lessons . . . . . . 38cents

School Composition . . . . . 32 cents

Language Tablets and Blanks

NATIONAL

Language Tablets. 15 Nos. . . . Per dozen, 90 cents
STICKNEY'S

Child's Book of Language. 4 Nos. . . Each, 8 cents

Letters and Lessons in Language. 4 Nos. . Each, 16 cents

The Same, No. 5. Grammar . . . . 35 cents

WARD'S

Grammar Blanks. 2 Nos. . . . Per dozen, 90 cents

These Tablets and Blanks supply a great variety of
graded exercises for practice and review in Language
Lessons, Grammar and Composition. Their use will
economize the time of both pupil and teacher.

Specimen copies of any of the above books will be sent prepaid to any
address, on receipl of the price, by the Publishers:

American Book Company
New York . Cincinnati . Chicago

416)



A NEw SERIES OF ScHooL READERS

School Reading by Grades

By JaMEs BALDwIN

Editor of ** Harper's Readers,” Author of ‘‘ Old Gréek Stories,” ** Old
Stories of the East,” etc.

In method and in subject matter, as well as in artistic and me-
chanical execution, these new readers will establish an ideal standard
equally well adapted for city and country schools. They possess many
original and meritorious features which are in accord with the most
approved methods of instruction and which it is confidently believed
will commend them to the best teachers and the best schools. The
illustrations are an important feature of the books, and are the work of
the best artists. They are not merely pictures inserted for the purpose
of ornament, but are intended to assist in making the reading exercises
enjoyable and instructive.

BALDWIN’S SCHOOL READING BY GRADES

First Year, 128 pp. 25 cents  Fifth Year, 208 pp. . 45 cents
Second Year, 160 pp. 35 cents  Sixth Year, 240 pp. . 50 cents
Third Year, 208 pp. 45 cents  Seventh Year, 240 pp. . 50 cents
Fourth Year, 208 pp. 45 cents Eighth Year, 240 pp. . 50 cents

For the convenience of ungraded schools, and for all who may
prefer them in such form, an edition corresponding to the ordinary five
book series of school readers will be furnished as follows :

BALDWIN'S SCHOOL READING—FIVE BOOK EDIT:ON

First Year, 128 pages . . . . . 25 cents
Second Year, 160 pages . . . . 35 cents
Third Year, 208 pages . . . 45 cents
Combined Fourth and Fifth Years. 416 pages . . 70 cents
Combined Sixth and Seventh Years. 480 pages . . 80 cents

Copies of cither edition of Baldwin's School Reading by Grades will be
sent prepaid on receipt of the price by the Publishers :

American Book Company
NEW YORK  +  CINCINNATI  «  CHICAGO

[y



GEOGRAPHY

Natural Elementary Geography

By Jacques W. Repway, F.R.G.S. Linen Binding,
Quarto, 144 pages. With numerous Maps and Illus-
trations . . Price, 60 cents

The publication of the Natural Elementary Geography
marks a new era in the study and teaching of geography.
Some of the important features which distinguish this
book from all other primary geographies are:

Central Idea.—The study of man in his geographic rela-
tions, leading to the industrial and commercial treat-
ment of countries and cities.

Method —Development of the subject in a perfectly
natural manner; hence the title—the Natural Series
of Geographies.

Treatment.—Simple, inductive, and progressive.

Maps.—The physical relief maps and colored political
maps are distinct and easily read. Those of corre-
sponding divisions are drawn on a uniform scale to
facilitate direct comparison of areas.

Illustrations.—The subject-matter is made clear and im-
pressive by attractive and appropriate pictures on
almost every page.

Other Special Features.—Topical outlines for language
work; exercises in correlation and comparisons; nat-
ural subdivisions of continents and countries; use of
suggestive questions, etc.

THE NATURAL ADVANCED GEOGRAPHY is in prepa-
ration.

An Illustrated Circular describing the plan and method
of the Natural Elementary Geography will be sent free to
any address on application.

Copies of the Natural Elementary Geography will be sent prepaid to-any
address, on receipt of the price, by the Publishers:
American Book Company

New York . Cincinnati . ~ Chicago
(48) :



Penmanship

STANDARD COPY BOOKS

Appleton’'s Barnes's, Eclectic, Harper's, Spencerian,
Spencer’s, Payson, Dunton, and Scribner's.

VERTICAL COPY BOOKS

Spencerian Penmanship—Vertical Edition

Shorter Course. Nos. 1to 7 . . . Per dozen, 72 cents
Common School Course. Nos. I to 6 . Per dozen, 96 cents

In this series of Vertical Copy Books the graceful lines and symmet-
rical forms which have distinguished Spencerian writing and made it
the accepted American standard of penmanship, have been applied in an
easy and natural way to vertical writing,

Curtiss's Vertical Copy Books
Six Numbers . . . Per dozen, 96 cents

A system of writing whlch combmes in the highest degree leglblhty,
ease, speed, and grace in execution.

Curtiss’s Semi-Vertical Copy Books

Six Numbers . . . . Per dozen, 96 cents

The Semi-Vertical Edition is de51gned to meet the demands of many
teachers who are not satisfied with the old system of writing and yet are
not prepared to adopt any of the new vertical styles.

American System of Vertical Wrmng

Nos. 1to 7 . . . . Per dozen, 96 cents
American Vertical Wntmg Blanks

Nos. 1, 2,and 3 . . . . . Per dozen, 96 cents
American Spelling Blank for Vertical Writing

Angular hand . . . . Per dozen, 60 cents

Round hand . . . . . . Per dozen, 60 cents

Ward's Graded Lessons in Penmanship and Spelling

Small Numbers, 1to6 . . . . Per dozen, 72 cents
Large Numbers, 1to6 . . . . Per dozen, 96 cents

Special Girculars and Specimen Pages of any of the above Copy Books
will be sent free on application.

American Book Company
NEW YQRK  «  CINCINNATI .  CHICAGO

[(£12)



Eclectic School Readings

A carefully graded collection of fresh, interesting, and instructive
supplementary readings for young children. The books are well and
copiously illustrated by the best artists, and are handsomely bound in cloth.

Folk-Story Series

Lane's Stories for Children )
First Reader Grade. 12mo, 104 pages . . . 25 cents

Baldwin's Fairy Stories and Fables
Second Reader Grade. 12mo, 176 pages . . 35 cents

Baldwin's Old Greek Stories
Third Reader Grade. 12mo, 208 pages . . . 45 cents

Famous Story Series

Baldwin's Fifty Famous Stories Retold

Second Reader Grade. 12mo, 172 pages . . 35 cents
Baldwin’s Old Stories of the East

Third Reader Grade. 12mo, 215 pages . . . 45 cents
Defoe’s Robinson Crusoe

Fourth Reader Grade. 12mo, 246 pages . . 50 cents
Clarke’s Arabian Nights

Fourth Reader Grade. 12mo, 271 pages . . 60 cents

Historical Story Series
Eggleston’s Stories of Great Americans

Second Reader Grade. 12mo, 159 pages . . 40 cents
Eggleston’s Stories of American Life and Adventure

Third Reader Grade. 12mo, 214 pages . . . 50 cents
Guerber’s Story of the Greeks

Fourth Reader Grade. 12mo, 288 pages . . 60 cents
Guerber’s Story of the Romans

Fourth Reader Grade. 12mo, 288 pages . . 60 cents

Guerber's Story of the Chosen People
Fourth Reader Grade. 12mo, 240 pages . . 60 cents

Clarke's Story of Troy
Fourth Reader Grade. 12mo, 255 pages . . 60 cents

Natural History Series

Kelly’s Short Stories of Our Shy Neighbors
Third Reader Grade. 12mo, 214 pages . . . 50cents

Dana's Plants and Their Children
Fourth Reader Grade. 12mo, 272 pages . . 65 cents

Copies of any of these books will be sent prepaid to any address, on veceipt
of the price, by the Publishers:
American Book Company

New York . Cincinnati . Chicago
(15)



Spelling and Word Study

Patterson’s Americah Word Book
Graded Lessons in Spelling, Defining, Punctuation, and
Dictation. By CALVIN PATTERSON, M.A.

This New Spelling Book embodies a carefully developed
and progressive plan for teaching the forms and values of English
words in common use. The selection of words is based on the
needs of the present, as shown by long experience in teaching
English.

Harrington’s Spelling Book. Complete . . . . .
Part I, separate for Primary Grades . . . . .
Part 11, separate for Higher Grades . .

A graded spelling book in two parts, which may be had
separately or complete as may best suit the wants of schools.
Metcalf’s Spelling and Language Book

A book for teaching spelling in connection with lang'uage
work and word-study.

McGuffey's Revised Eclectic Spelling Book . . .

An old favorite revised, with many new features.

Natural Speller and Word Book . . . .
Contains a carefully selected and graded list of words thh

valuable special features.

Swinton's Word Primer . . . . .
A beginner’s book in oral and wntten spellmg

Swinton’s Word Book of English Spelling . .

A graded speller with the words arranged in natural groups,
according to origin or use, and containing ether valuable features.

FOR STUDIES IN ETYMOLOGY AND ORTHOGRAPHY
Swinton’s New Word Analysis . .
A practical work on Etymology with exercises in analys:s, etc.

Wright's Analytical Orthography
A new edition of this popular and standard work

$0.25

.20
.15
15

.20

A7

.20

15

Copies of any of the above books will be sent prepaid to any address, on

receipt of the price by the Publishers :

American Book Company

NEW YORK B CINCINNATI . CHICAGO

(¢D)]



Digitized by
Google



A




HARVARD COLLEGE
LIBRARY

THE ESSEX INSTITUTE
TEXT-BOOK COLLECTION

GIFT OF

GEORGE ARTHUR PLIMPTON
OF NEW YORK

JANUARY 25, 1924




Digitized by
Google



